

WORLD'S FASTEST MONEY EARNING MLM PLAN





ABOUT COMPANY

Speed Pay is very fast and HiFi crowdfunding system making big money every day. So you can become rich very quickly or make money very quickly with the team.You can earn 5 lakh Autopool income and unlimited team income very fast in MLM industry without any risk, without MD, by starting the min joining of the product from Rs-50.The plan to help has always been powerful, or many leaders have come to MLM promoters or improved the future of their team. www.speedpay.live





VISION & MISSION

VISION

The plan to help has always been powerful, or many leaders have come to MLM promoters or improved the future of their team. The vision or mission of Speed Pay is to motivate its users to help them more and faster.

MISSION

Speed Pay is very fast and HiFi crowdfunding system making big money every day. So you can become rich very quickly or make money very quickly with the team. You can earn 5 lakh Autopool income and unlimited





REGISTER

Username

******* Password ******* Re - Password *******







TYPES OF INCOME

DAILY CASHBACK INCOME

EVERY REFERRAL INCOME

UNLIMITED TEAM LEVEL INCOME

3 TYPE AUTOPOOL INCOME

SPEEDPAY BONUS



DAILY CASHBACK INCOME

25% DAILY CASHBACK UPTO 150% EVERY PACKAGE

(GH 50X3=150/-)





EVERY REFERRAL INCOME

1st REFFERAL 10%

2nd REFFERAL 15%

3rd REFFERAL 20%

4th REFFERAL 25%

5th to 10th REFFERAL 25%





UNLIMITED TEAM LEVEL INCOME

8000

5

%

 \cap

FIRST LEVEL 10%

2nd TO 10th LEVEL 5%

ONE REFFERAL REQUIRED FOR OPEN EVERY LEVEL



3 TYPE AUTOPOOL INCOME

ld	Pool Income	1 st pool	2 nd pool	3 rd pool
10	10	100	600	1500
40	10	400	2400	6000
100	10	1000	6000	15000
400	10	4000	24000	60000
1000	10	10000	60000	1,50,000
		15,500	93,000	2,32,500



SPEEDPAY BONUS





Team & Condition

- A Referral Is Mandatory For Withdrawal Of The Same Package And Above Amount
- ✓ First Pool Income Starts After 2 Referrals
- ✓ Second Pool Income Starts After 5 Referrals
- ✓ Third Pool Income Starts After 10 Referrals
- ✓ Ph,GH Time 12 Hour
- ✓ Speed Pay Bonus Time 1 Hour
- ✓ Auto Withdraw Speed Pay Min 50/-Rs.
- ✓ No Tds No Admin Charge
- ✓ One Mobile Number Unlimited I'd
- ✓ Daily level income unlimited (no capping) www.speedpay.live



